Topic 4 Additional Practices













Name

Another Look!
Martha has 42 pine trees to planton a plot of
fand. If Martha plants the trees in 6 equal rows,

how many trees will be in each row? If she
plants 7 equals rows, how many trees will

be in each row?

{

Find 42 + 6.

42:6=7
There will be 7 trees in each row. |

What number times 6 is 427
7 x6=42

42 -i-‘il =6




O

14. Exhsideofthebhd!mwﬂlneedgnalls.

7 = 63 nails

15. ifoniy?nlﬂsmwdqnachside.howwﬂlﬂme
wwammm‘?er

1t will decrease. The number of sides stays
the same, but there will be fewer nails on
each side.

gewmnaﬂs are needed for the whole birdhouse?
x

There are
7 sides on the
birdhouss.

17.

RS i S A R
24+ 1= 6 6 shudents

‘Make Sense and Persevere There are
42 roses in the garden. Diane picks :
7mufuu¢mma~




©006090 X
3 2222 | pdditional
Another Look! Practice 4
Multiplication facts can help you to find division facts Use Muitiplication to
when 8 or 9 is the divisor. Divide with 8 and 9
There are 32 counters. There are 8 rows There are 45 counters. There are 9 equal
of counters. How many counters are in groups. How many counters are in
each row? , each group?
; 0 o® o0
e®e o®0 o%e
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s Find 45+ 9.
{stmeswhat |[32:8=4 | | |otimesw
4=32 1a P ”
e '_:-"lé A -t




13. Maluwa has 9 identical tiles. When she 14. Each month Bailey deposits reoney in hies

counts the total number of sides on the savings account. Over 8 months, she has
tiles, she gets 72. Draw a picture of added $48. If Bailey deposited the same
what her tile could look like, and amount every month, how much is
name that shape. one deposit?

Octagon; Sample answer: $6

Tt

15, Construct Arguments The table at the right
‘With $63, would you be able to buy more
More matinee tickets; 63 + 7 = 9, but
63+ 9 =7. Solcould buy 9

L
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9. When you divide
zm& 1 mm
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8. Ted bought 1 box of whistles, 1 box of
streamers, and 1 box of stickers. How
manypartyfmrsdldhebuyhall
Show your work.

12 + 48 = 60; 60 + 36 = 96;
96 party favors

v

9. non;mmynihm.hmwmﬂ 10. Generalize Explain why the product of
Zﬂmesmnumberisam,m

m%mmmm mthnm
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9. Be Precise Aiden has $20. He spends all of his
r omm‘rmﬁmmmﬂdlﬁm

i

10. Tanji spendlﬂvﬂﬁdlwswgves an
equal number of tickets to each of 8 friends.

How many tickets each
lul:“:ltlz&




for a carnival. Ten students each made
he students put the popcorn in bags fhat
Wnumberof C'APS-MM
made.




10. Make Sense and Persevere Ellis asked some
classmates to name their favorite color. He
recorded the information in this chart. How
mwmm&ewﬂm?

33 classmates

11. Suppose Ellis asked more classmates to name

their favorite color. If 4 more classmates

named blue this time, how many classmates
named blue in al?

13 classmates y :
13, Ata music recital there are 30 chairs. 13, A rasic senchar a4 St i Dugh e
They are set up in 6 equal rows. Find the has 2 drumsticks. Each drumstick costs
s il
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8. Carloshasasivinglhat.lsukd\esbng.l-le
wants to divide it into 3 equal parts. Write an
equatlontoﬁndhwbngachpaﬂwiﬁ be.
Usea?tompvaentﬂum*nownnmber.

Thensoheyoureqn;;lma &
Sumgk; answer: 24 = 3 = %5
? = 8 inches

9. Higher Ordet Thinking Hector spent
from ﬂmm-ﬂnmmﬁy
at the beach, Each day he found an.
equal number of shells. 1f Hector found
63 shells, how many shells did he findon.
9 shells; There are 7 days in @
week, 5o I can use the equation

7 x ? = &3, ond | know

10. Make Sense and Persevere Ella solves

ﬂ\eequaﬂon?.z~:-7=8.9nslysﬂ|e
value of 2 is 4. Does Ella’s answer make
sense? Explain.

Yes; Smgllm-r:l x =32,
so 32 divided by 4 must equal 8.

e
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Tomammwmyoumayneedtoﬁnd Make Sense
the answer to a hidden question first. Then you can and Persevere
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) Performance Task

Zoo Field Trip

The third-grade class at Thomas Elementary School
goes on a trip to the zo0. Students are in groups

of 6. Mr. Bell’s and Ms. Ridley's classes are combined.

; 4. Make Sense and Persevere The teachers want to
Kknow how many groups will be in the combined
4 classes. What do you need to know to solve?

Students will be in groups of 6. There are
18 students in Mr. Bell's class and 2U students 4

in Ms. Ridley’s dlass.

5. Use Reasoning Find the number of groups in the




